


. I A A Cl' 1 F=-}
AT (Cr) dionldoumlasa Kp TesneuInsauuvi )

IR(UNT)

Kp=0.5

Kp=6

Kp=20

Kp=100

Kp=500

0

0.8547

0.8768

0.8725

0.8688

0.8705

—h

0.8688

0.897

0.8911

0.8908

0.9018

0.8768

0.9063

09125

0.897

0.9095

0.883

0.9187

0.9214

0.9047

0.9125

0.8875

0.9345

0.9326

0.911

0.9158

0.8955

0.9422

0.9425

0.9172

0.9205

0.9033

0.9437

0.9583

0.9267

0.9235

0.911

0.947

0.9612

0.9313

0.9283

0.9187

0.9533

0.9712

0.9345

0.9345

o|lom| ~Nloalao]l ~]lw]nN

0.9297

0.9563

0.9812

0.9375

0.9408

0.9437

0.961

0.9812

0.9393

0.9455

11

0.9517

0.9625

0.9812

0.9422

0.947

12

0.9563

0.9643

0.9845

0.9437

0.9485

13

0.9595

0.9672

0.986

0.9455

0.95

14

0.9625

0.9735

0.9892

0.947

09517

15

09672

0.9845

0.9875

09517

0.9547

16

0.9735

0.9922

0.9892

0.9533

0.9563

17

0.9812

0.9938

0.9908

0.9563

0.9595

18

0.983

0.997

0.9908

0.961

0.9625

19

0.9892

0.9985

0.9908

0.961

0.9643

20

0.9938

0.9985

0.9908

0.9658

0.9658

21

1

0.9985

0.9908

0.972

0.9688

22

1.0017

1

0.9892

0.9768

0.9705

23

1.0017

1.008

0.9892

0.9783

0.9705

24

1.0033

1.0188

0.9938

0.9797

0.9705

25

1.0017

1.022

0.9938

0.983

0.972

26

1

1.022

0.9938

0.986

0.9735

27

1

1.0205

0.9955

0.9875

0.9735

28

0.9985

1.0188

0.9955

0.9892

0.975

29

0.997

1.0158

0.9955

0.9892

0.975

30

0.9985

1.0125

0.997

0.9922

0.9768

49



Pl A lﬂ' r = ]
M319MEH (C) wenldeundasa Kp Insneu Insauuuh () (de)

naEun

Kp=0.5

Kp=6

Kp=20

Kp=100

Kp=500

31

1

1.011

0.9985

0.9955

0.9797

32

1

1.0095

i

1

0.9797

33

1.0017

1.0095

1

1.0033

0.9797

3

1.0063

1.008

1.0017

1.0063

0.9797

35

1.0063

1.0063

1.0033

1.6048

0.9797

36

1.0063

1.0063

1.0048

1.0048

0.9797

3r

1.0048

1.0048

1.0048

1.0033

0.9797

38

1.0017

1.0048

1.0048

1

0.9812

35

1.0033

1.0048|

0.997

0.9812

40

0.9985

1.0048

1.6048

0.9955

0.9812

41

0.997

1.0033

1.0033

0.9955

0.9812

42

0.9955

1.0048

1.0017

0.9985

0.983

43

0.9955

1.0063

1

0.986

44

0.9938

1.0063

0.9983

1.0017

0.986

45

0.9938

1.00438

1.0033

0.9875

46

0.9955

1.0033

1.0033

0.9892

47

1.0033

1.0017

0.9985

1.0048

0.9892

48

1.0158

1.0017

-1.0063

0.9922

49

1.0205

1.0017

0.9985

1.008

0.9908

50

1.022

1

1.0048

0.9908

51

1.0205

0.9985

1.0017

1.0048

0.9908

52

1.0188

0.9985

1.0048

1.0017

0.9908

53

1.0158

0.997

1.011

1

0.9908

54

1.6125

0.997

1.0143

0.997

0.98%2

55

1.0125

0.997

1.0143

0.9955

0.9908

56

1.0095

0.997

1.0125

0.9922

0.9892

57

1.008

0.997

1.011

0.9922

0.9875

58

1.0048

0.9955

1.011

0.9922

0.9908

59

1.0017

0.9955

1.0095

0.9985

0.9922

60

0.9985

1.008

1.0017

0.9922

61

0.9985

1

1.0043

1.008

0.9922

62

0.9985

1.0017

1.0033

1.011

0.9908

50



-1 A ‘:' r 1
AT NN (C) Wonldoualaea Kp Tasnou Insauuuil () (de)

VR(AuR

Kp=0.5

Kp=6

Kp=20

Kp=100

Kp=500

63

0.997

1.0033

1.0033

1.0158

0.9938

64

0.997

1.0033

1.0033

1.0158

0.9955

65

1.0033

1.0033

1.0048

1.0125

0.9955

66

1.0063

1.0048

1.0048

1.008

0.997

67

1.0063

1.008

1.0033

1.0033

0.997

68

1.0095

1.0095

1.0017

0.997

0.997

69

1.011

1.011

0.99338

0.997

70

1.0095

1.011

0.9908

0.997

71

1.011

1.011

0.9892

0.997

72

1.0095

1.0095

0.986

0.997

73

1.0095

1.008

0.9845

0.9985

74

1.008

1.06063

1
1
1
1
I
1

0.9845

1

75

1.0048

1.0063

1.0033

0.986

1

76

1.0033

1.0065

1.0063

0.9875

0.9985

77

1.0017

1.0063

1.008

0.9922

0.9985

78

1

1.0048

1.0095

0.9985

0.9985

79

1

1.0048

1.0095

1.008

0.9985

80

0.9985

1.0033

1.0095

1.0143

0.9985

B1

0.9955

1.0017

1.008

1.0173

0.9985

82

0.9938

0.9985

1.008

1.0173

1.0017

83

0.9938

0.997

1.0048

1.0158

B4

0.9955

0.997

1.0033

1.0125

1.0033

85

0.9985

0.9985

1.0017

1.008

1.0033

86

1.0017

0.997

1

1.0033

1.0033

87

1.0033

0.9985

0.9985

0.9985

1.0033

88

1.0663

1

0.997

0.9955

89

1.0095

1

0.9985

0.9908

0.9985

90

1.0095

0.9985

1

0.9875

0.9955

91

1.0095

H

0.986

0.9922

92

1.0063

1.0033

|

0.9875

0.9892

93

1.0063

1.008

0.9908

0.9908

94

1.008

1.0125

0.9922

0.9938

51



A15NA1EN (C1) Wenlfeunlasat Kp Tavaou Insauuui () (de)

198 (N

Kp=0.5

Kp=6

Kp=20

Kp=100

Kp=500

95

1.008

1.0173

1.0033

0.9955

0.9938

96

1.0095

1.0173

1.0033

0.997

0.9955

97

1.0063

1.0173

1.0048

0.9985

0.9955

98

1.0033

1.0158

1.0063

1

0.997

99

1.0017

1.0143

1.008

1.0017

0.997

100

1.0017

1.0125

1.008

1.0017

0.997

101

1.0017

1.011

1.008

1.0017

0.997

102

1.0033

1.011

1.008

1.0033

0.9985

103

1.0033

1.0085

1.0048

1.0048

1

104

1.0033

1.008

1.0033

1.0033

1.0048

105

1.0017

1.0063

1.0017

1.0033

1.0095

106

1.0017

1.0048

1

1.0017

1.011

107

1.0048

0.9985

1.0017

1.0125

108

1.0063

0.9985

1.0033

1.0095

109

1.0063

1

1.0048

1.0063

110

1.0063

1

1.0063

1.0017

1

1.0048

1.0017

1.008

0.9985

112

1.0063

1.008

1.008

0.9955

113

1.0048

1.008

1.0063

0.9908

114

1.0033

1.008

1.0063

0.9875

115

1.0048

1.0048

1.0017

0.986

116

1.0017

1.0033

0.997

0.986

117

1

1.0017

0.9922

0.986

118

0.9985

0.9875

0.9892

119

0.9985

0.986

0.997

J2



\ 4 . o .
M NAER (CH) o Kp=5.4 udilaounlasd Ki

war(Guii)

Ki=0.81

Ki=10

Ki=50

Ki=100

Ki=150

0

0.9018

0.875

0.8547

0.8658

0.8658

—

0.922

0.9095

0.8845

0.8783

0.8783

0.9283

0.9205

0.8985

0.886

0.886

0.9313

0.9297

0.9095

0.8955

0.8955

0.9375

0.936

0.922

0.9095

0.5047

0.9455

0.9408

0.9393

0.9125

0.9095

0.9533

0.947

0.9517

0.9172

0.9125

0.9625

0.9595

0.9672

0.922

0.9205

0.9735

0.9672

0.9783

0.9267

0.925

Sl | Nl e]lw] N

0.9812

0.972

0.9812

0.9345

0.9345

Y
o

0.986

0.972

0.986

0.9422

0.9408

0.9875

0.9735

0.986

0.947

0.9533

12

0.9892

0.9783

0.9875

0.9517

0.961

13

0.9522

0.9812

0.9955

0.9563

0.9643

14

0.9985

0.983

1.0063

0.958

0.9658

15

1

0.9845

1.0158

0.961

0.9658

16

1.0033

0.986

1.0158

0.9643

0.9658

17

1.0063

0.9875

1.0143

0.9658

0.9658

18

1.008

0.9875

1.011

0.9658

0.9658

19

1.0063

0.9892

1.008

0.9672

0.9658

20

1.0063

0.9938

1.0048

0.9688

0.9658

21

1.0048

0.997

1.0017

0.9672

0.9672

22

1.0063

1.0017

0.9985

0.9688

0.9705

23

1.0063

1.0033

0.9955

0.9735

0.9768

24

1.0048

1.0048

0.9922

0.9768

0.9812

25

1.0033

1.0048

0.9908

0.983

0.983

26

1.0033

1.0048

0.9892

0.986

0.986

27

1.0017

1.0017

0.9892

0.9908

0.9908

28

1

0.9985

0.9922

0.9985

0.9922

29

0.9985

0.9955

1 .'0O33

0.9922

30

0.9985

0.9955

0.9922

0.9922|;

1.0033

0.9908

3t

0.9985

0.9938

0.997

1.0033

0.9908

53



L A T d. lJ ¥
ATNAIFR (C1) 110 Kp=5.4 whnldeuutnsm Ki (o)

T lGITa )

Ki=0.81

Ki=10

Ki=50

Ki=100

Ki=150

32

0.9985

0.9938

0.9985

1.0063

0.9908

33

1.0017

0.9938

1.0033

1.0063

0.9922

34

1.0048

0.9938

1.0048

1.0033

0.9908

35

1.011

0.997

1.0048

1

0.9922

36

1.0158

1.0033

1.0095

0.997

0.9938

37

1.0158

1.0095

1.0125

09938

0.9938

38

1.0173

1.011

1.0095

0.9922

0.9922

39

1.0158

1.011

1.0048

0.9938

0.9938

40

1.0143

1.0125

1

0.9955

0.997

41

1.0125

1.011

0.9985

0.9955

0.997

42

1.0125

1.0095

0.9938

0.9938

0.9955

43

1.0125

1.008

0.9922

0.9938

0.9955

44

1.0125

1.0048

0.9908

0.997

0.9955

45

1.0143

1.0017

0.9922

0.9985

0.997

46

1.0143

1

0.9938

1

0.9985

47

1.0125

0.9985

0.9985

1

1.0017

48

1.0143

0.997

1

1

1.0063

49

1.0125

0.9938

1

1

1.0063

50

1.011

0.9922

1

1.008

1.008

51

1.011

0.9938

1

1.008

1.008

52

1.011

0.9985

1.0033

1.0063

1.008

53

1.011

1.0648

1.0095

1.0095

1.0063

54

1.0095

1.0095

1.0125

1.0095

1.0048

55

1.011

1.0173

1.0125

1.008

1.0017

56

1.011

1.025

1.011

1.0048

1

57

1.011

1.0283

1.0095

1.0017

0.9985

58

1.011

1.0268

1.008

0.9985

0.997

59

1.0095

1.0235

1.0048

0.997

0.9955

60

1.0095

1.0205

1.0048

0.9955

0.9955

61

1.0095

1.0173

1.0017

0.9938

0.9955

62

1.0095

1.0143

0.9908

0.9955

63

1.0095

1.0125

0.997

0.9922

0.9938

54



MINAEN (CO) (1B Kp=5.4 uanldouulasd Ki (do)

R IGITarD),

Ki=0.81

Ki=10

Ki=50

Ki=100

Ki=150

64

1.008

1.0125

0.9955

0.9938

0.9922

65

1.008

1.011

0.9922

0.997

0.9922

66

1.0063

1.008

0.9922

0.9955

0.9938

67

1.0048

1.008

0.9908

0.9985

0.9955

66

1.0063

1.011

0.9922

I

0.9955

69

1.0063

1.011

0.9938

1.0048}

0.997

70

1.0063

1.0125

0.9955

1.0095

0.997

71

1.0048

1.011

0.9985

1.008;

0.9985

72

1.0063

1.008

1

1.008

1.0033

73

1.00438

1.0063

1.0017

1.008

1.0063

74

1.0033

1.0048

1.0017

1.0063

1.0063

75

1.0048

1.0033

1.0017

1.0033

1.0063

76

1.0063

1.0017

1.0048

1

1.0063

77

1.008

1.0017

1.0085

1

1.0033

78

1.008

1

1.0095

0.997

1.0017

79

1.0063

1.0017

1.008

0.9955

0.9985

80

1.0063

1.0017

1.0063

0.9938/

0.9955

81

1.0048

1

1.0048

0.9922

0.9938

82

1.0048

0.9985

1.0033

0.9938

0.9538

83

1.0033

0.9985

1.0017

0.9985

0.9922

84

1.0017

0.997

0.9985

1.0017

0.6922

8b

1.0017

0.997

0.9955

1.0017

09922

86

1.0033

1

0.9938

1.0017

0.9922

87

1.0033

1.0033

0.9922

1.0017

0.9922

88

1.0017

1.0033

0.9908

1.0017

0.9922

89

1.6017

1.0033

0.5908

0.9922

90

1.0017

1.0063

0.9922

0.9908

91

1.0033

1.008

1.0017

0.9985

0.9922

92

1.0048

1.008

1.0095

0.997

0.9938

a3

1.0063

1.0063

1.0125

0.997

0.9955

94

1.0048

1.0048

1.0158

0.997

0.9955

95

1.0048

1.0048|-

1.0158

0.9985

0.9955




] A A [ i 1 . [
ATNAEN (C1) o Kp=5.4 udldouinlassi Ki (Ae)

TS GITa D,

Ki=0.81 Ki=10 Ki=50 Ki=100 Ki=150
o6 | 1.0063] 1.0033] 10125| 09985] 0.9955
o7 | 1.0063| 10033] 1.0095 1| 0.9955
o8 | 1.0063] 10033| 1.0095| 1.0033] 0.9955
00 | 1.0048 1] 1.0095] 1.0048] 09955
100 | 1.0033 1] 1.0063] 1.0063] 09955
101 | 1.0017) 10017] 1.0033| 1.0063] 09938
102 | 1.0017] 1.0017 1] 1.0048] 0.9955
103 1] 1] 09985 10033 1
104 1 1| 0997] 10033 10033
108 1| 10017] 09955 1.0017 1.0063
106 | 10017 1| 09938] 09985| 1.008
107 | 1.0033 1| 09922] 0997] 1011
108 | 1.0095] 1.0033] 0.9955] 0.9955| 1.0143
109 | 10143| 10048 1| 09938| 1.0143]
110 | 1.0158] 10048 10063] 09938] 10125
11| 1.0158] 1.0033| 1.0095] 09938 1.0063
112 | 1.0158] 1.0017] 10125 0997 1.0033
113 | 10143 1| 1.0125] 1.0017 1
114 | 1.0143 1| 1.0143] 1.0048] 0.9955
115 | 1.0125 1| 1.0125] 1.0048] 09938
16 1011 1| 1o12s] r.o08[ 09922
117 | 1.0095 1| 1o11] 1.0095] 09892
118 1.008 1| 1011] 1008 0.9892
19 1.008] 1.0017| 1.0095| 1.0063] 0.9922
120 1.008] 10017| 1.0063] 1.0033] 09938

56



1 A d.' 1]
AT NMFN (CO Wlo Kp=7.2.Ki=1.8 uazilasuutadi kd

189y

Kd=0.017

Kd=50

Kd=100

Kd=300

Kd=500

0

0.8705

0.861

0.875

0.8768

0.872

-t

0.886

0.886

0.9033

0.908

0.8908

0.8922

0.8922

0.9095

0.9125

6.9033

0.9018

0.8985

0.9125

09187

0911

0.9095

0.9047

0.9187

0.925

0.9172

0.9325

0.9095

0.922

0.9313]

0.925

0.9472

0.911

0.9297

0.9375

0.933

0.962

0.9158

0.9375

0.9437

0.9393

0.9783

0.9235

0.9455

0.9485

0.9437

O @ N s w] N

0.9783

0.9297

0.9547

0.958

0.9455

—_
<

0.9875

0.936

0.961

0.9643

0.947

—
-—

0.9882

0.9422

0.9658

0.9672

0.9517

—r
ha

0.9985

0.9455|

0.9658

0.9705

0.9547

—
w

1.0004

0.9517

0.9688

0.972

0.958

—
E=N

1

0.9595

0.9705

0.9768

0.9625

—
wn

1.06003

0.9625

0.975

0.9783

0.9705

-
o

1.0005

0.9658

09812

0.9797

0.9735

-
-

1.0002

0.9688

0.9845

0.9797

0.9768

pust
o]

0.9993

0.972

0.9845

0.9812

0.9783

=
w

0.9988

0.9763

0.9892

0.983

0.9783

W]
o

1.0003

0.9797

0.9922

0.9875

0.9768

M
-

0.9995

0.986

0.9922

0.9938

0.975

\

0.9968

0.9875

0.9922

1

0.975

N
w

0.9963

0.9892

0.9955

1.0033

0.975

N
P

0.9912

0.9908

0.997

1.0063

0.9783

N
4]

0.991

0.9922

0.9985

1.0095

0.983

N
o]

0.9908

0.9922

1.0033

1.011

0.986

N
-~

0.9922

0.9908

1.0033

1.008

0.9892

N
o]

0.9938

0.9922

1.0033

1.0048

0.9922

\*]
L]

0.9938

0.9922

1.0033

1.0017

0.9985

I8
o

0.9955

0.9922

1

0.9955

1.0063

w2
—

0.997

0.9938

0.9985

0.9908

1.0173
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L Y- A :: r ¥
MINMBN (C) 119 Kp=7.2.Ki=1.8 unitfasuutlais Kd (Ae)

walium

Kd=0.017| Kd=50 Kd=100 | Kd=300 | Kd=500
a2 | 09955 0997 0.9955] 0986l 1022
33 | 0.9938] 0998s| 09922 0983 1.0205
a1 | 09938 1.0048] 09908] 09797 1.0173
35 | 09938] 1.008[ 09875] 09783 10125
36 | 09952] 1.0095| 0.9875] 09768] 1.008
a7 | 09962 1008 0.9922] 0.9797] 1.0033
38 1| 1.0063] 0.9938] 0.9812] 0.9985
39 1] 10017 0997] 09845] 0.9922
a0 | 1.0001] 0.9985 1| 09875] 0986
a1 | 1.0033] 09938 1.0048] 0.9908| 0.9812
a2 | 1.0033] 09908 1.0063] 0.9955| 0.9783
43 | 10033 0986 10063] 0997] 09768
44 | 1.0033| 0983 1.008| 09985 09735
a5 | 1.0033] 05797 10063] 10017 0975
s6 | 1.0033 09783[ 1.0033] 1.0033| 0.9768
a7 | 1.0017] 09812 09985 1.0048] 0.9783
a8 | 1.0033] 0986 09955| 1.0048 09783
49 | 1.0063] 09908 0.9908] 1.0017 0.9797
50 1.008]  0.997| 09892 0997] 00983
51 | 1.0063] 09985 09892] 09938| 09845
s2 | 1.0048] 1.0017] 0.9892] 0.9908] 0936
53 | 1.0033] 1.0033] 09875 0.986| 0.9875
s¢ | 1.0017| 1.0048] 09875] 0983] 09908
55 1| 1.004s| 09892] 09812] 0997
s6 | 1.0017] 1.0033] 09922] 0.9812] 1.0063
57 | 1.0033] 1.0017| 0.9955] 0.983] 1.0095
58 | 1.0017] 09985 0997] 09845 1011
59 | 1.0017] 09938 0997] 0988 Lol1
60 | 1.0017] 09908] 1.0017] 0.9922] 1.0095
61 1| 0.9875] 1.0033] 0997 1.0048
62 1| 09845  t1o11 1 1
63 | 09985 0983 1.0143] 10033 0997
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L | A : ¥ T
MINMEN (CO 1D Kp=7.2,Ki=1.8 yazaldsuuilass Kd (de)

VAU

Kd=0.017

Ka=50

Kd=100

Kd=300

Kd=500

64

0.9985

0.983

1.0125

1.011

0.9922

85

0.997

0.9908

1.0095

1.0173

0.9875

66

0.997

0.9985

1.0048

1.0188

0.983

67

0.9985

1.0017

1.0017

1.0173

0.9812

68

1

1.0033

0.997

1.0143

0.9797

69

1.0033

1.0048

0.9922

1.011

0.9797

70

1.0022

1.0048

0.9892

1.608

0.983

71

1.0015

1.0033

0.9845

1.0033

0.983

72

1.0012

1

0.983

0.9985

0.9845

73

1.0011

0.997

0.9797

0.9938

0.9892

74

1.0011

0.9922

0.9797

0.9908

0.9955

75

1.0005

0.9892

0.9845

0.9875

1.0048

76

1.0004

0.986

0.9875

0.986

1.0125

77

1

0.9845

0.9892

0.983

1.0188

78

0.9985

0.983

0.9922

0.9812

1.0205

79

0.9978

0.986

0.9955

0.9797

1.0188

80

0.9972

0.9875

0.9985

0.983

1.0143

81

0.998

0.9922

1

0.9845

1.011

82

0.9985

0.997

1

0.9892

1.0063

83

0.9986

1

1.0017

0.9938

1.0017

84

0.9995

1.0017

1.0017

0.997

0.997

85

1

1.0033

1.0048

1

0.9938

86

1.0003

1.0048

1.0048

1.011

0.9892

87

1.0011

1.0063

1.0048

1.025

0.9845

88

1.0005

1.0033

1.0017

1.0345

0.9812

88

0.9978

1

0.9935

1.0375

0.9797

90

0.9978

0.997

0.9938

1.0345

0.9797

91

1

0.9922

0.9908

1.0297

0.983

92

1.0017

0.9892

0.9875

1.025

0.9845

1.0033

0.9875

0.986

1.0188

0.986

1.0033

0.9845

0.986

1.0158

0.9892

1.0033

0.983

0.9845

1.011

20.9938




AMINABN (C) W0 Kp=7.2,Ki=1.8 uaziRouuilasii Kd (de)

RGEUNN Kd=0.017

Kd=50

Kd=100

Kd=300

Kd=500

96

1.0033

0.983

0.9845

1.0063

0.9955

87

1.0033

0.9845

0.986

1.0017

1

98

1.0017

0.9845

0.9892

0.9985

1.0033

99

1.0033

0.986

0.9955

0.9938

1.0095

100

1.0048

0.986

1

0.9508

1.0158

101

1.0048

0.9875

1.0033

0.9892

1.0158

102

1.0033

0.9892

1.0048

0.986

1.0125

103

1.0033

0.9908

1.0063

0.9845

1.0095

104

1.0017

0.9922

1.008

0.983

1.0063

106

1

0.9922

1.0063

0.983

1.0033

106

1

0.9938

1.0033

0.9845

1

107

1

0.9955

1.0017

0.9892

0.997

108

1.0017

0.997

0.997

0.9922

0.9938

109

1.0017

0.997

0.9938

0.9938

0.9908

110

1.0017

0.9985

6.9908

0.9985

0.9892

111

1.0017

1.0033

0.9875

1.0017

0.9875

112

1.0017

1.008

0.9875

1.0032

0.986

113

1.0017

1.0095

0.986

1.0048

0.986

114

1.0017

1.0095

0.986

1.0033

0.9892

115

1.0017

1.008

0.986

1.0017

0.9955

116

1.0017

1.0063

0.9875

1

1.0063

17

1.0017

1.0017

0.9908

0.997

1.0143

118

1.0017

0.9985

0.9938

0.9938

1.0173

119

0.9933

0.9955

0.9908

1.0188

120

0.9985

0.9892

0.997

0.9892

1.0158
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"aalsnaly

Dim Myfso As New FileSystemObject, Mytxtfile

Dim Filename As String

Dim DataTemp As String

Dim Settemp As Integer

Dim Want  As Single

Dim Ct As Single

Dim OldArea As Single

Dim Etl As Single

Dim Tpeak As Integer

time

Dim TempPeak As Boolean
Peak

Dim RiseTime As Boolean
Dim CheckSetting As Boolean
Dim ScalGraph As Integer
Dim ChkTimer2 As Boolcan
Dim SettingTime As Boolean
Dim Kp As Single, Ki As Single, Kd As Single
Dim ChkLP As Boolean

Dim LP As Integer

Dim Ratio As Single

Dimn FristStep As Integer

X

Dim CheckTemp As Single
Dim check As Boolean

Brim plottempX1 As Integer, plottempX2 As Integer
Dim step As Integer

Dim plottemp¥ 1 As Integer, plottempY2 As Integer

61

*set Myfso WEuseins g Tael

‘Myfile HhudFou
138180 il Save 13
fadsidudeya
"Earaunlsves setpoint £1AN
' i1 Setpoint

' e C()

‘U uRnIa
'gualsdus Ex

" @l55U Time peak U8 setting
' asvaenfnaqiives Time

“1Ans19ero1an Rise Time

' Ang29ereud SettingTime

' 1529001 Timer2

4 e setting Time

*ifiush PID

' #5796(01 Loop drive motor
' Loop drive motor

- =1 t o [l ~
dnlsfuasesidau demilu

1

“dlunmssmualums Plot A

' fruana luasedougu Mgl
“Aasavasunnu X

o A
' MuuaR 1 plot graph



radidlvld

Sub CreatedFile()

digi.Flags = ¢cdlOFNHideReadOnly

dig} Filter ="(*txt) "

dlgi.ShowSave

Filename = digi.Filename + ". TXT"

If Filename = ".TXT" Then Filename = "Myfile.txt"

MsgBox Filename
Set Mytxtfile = Myfso.CreateTextFile(Filename)
End Sub

' Sahudaya

Sub SaveDataO

Mytxtfile. Write (DataTemp)
Mytxtfile.Close

End Sub

" Amuaidu Setpoint
Sub Setpoint(frame1Text1)

Settemp = (65 - Val(Text1.Text)) * 40 - 300

Graph.DrawStyle =6

Graph.Line (100, Settemp)-(1100, Setternp), RGB(0, 0, 256)

Finalvalue.Visible = True
Finalvalue.Move 1125, Val(Settemp -~ 25)
End Sub

fmuaindnens

Sub SetGraph()
Graph.Scale (0, 0)-(1250, 1500)
Graph.DrawStyle = 6

62

' pUTDIRR AT DN Read only
*Tardotia AT e

v Dialog Box Save

' Save File 14 txt file
unsdiniildge Ind admuadhy
' Myfile.txt Ba Tusia
*ugasiogves dRifudoya

s adeya Taadw Myfile

= -
' Wsudeyn

PlanAndlo@oudoyaasIndado

' fnuasefiduue Setpoint 1y

M5 HBUTZAY Scal Y04 Graph
o & &

Smuaduduny

'1du Setpoint

o 4 4
' MMHUAVUIRAUR Plot graph

smuaduduiiy



Graph.Line Step(0, 0)-Step(1250, 1500), RGB(258, 256, 50), BF

s

Graph.Line (100, 50)-(100, 1300), RGB(250, 0, 0)
Graph.Line (100, 1300)-(1125, 1300), RGB(250, 0, 0)

Graph.DrawStyle = 2

Dim Y As Integer
For Y = 100 To 1100 Step 200
Graph.Line (100, Y)-(1100, Y)
Next Y _
' vl o naideg (i X)
For X=150 To 1100 Step 50
Graph.Line (X, 100)-(X, 1300)
Next X
' WA NNY Temp fuou Y
T25.Move 45, 1280
T30.Move 45, 1080
T35.Move 45, 880
T40.Move 45, 680
T45.Move 45, 480
T50.Move 45,280
T55.Move 45, 80

' Set Aialszduen Xy
T.Move 50, 15
TimeSec.Move 1160, 1250

' anmivom
SS.Move 720, 1370
MM . Move 620, 1370
HH.Move 530, 1370
Ttime.Move 460, 1395

* A11uA Block 179

U Y
"wou X
alasudhndu ik

'SiuaiduilsssAy T a1

'Set AUHUI T=25 DR

' Set S1WHUY T =55 B4

= )
'Sud
~
U
*9 119

*§191 Time



doti .Move 680, 1365
dot2 Move 585, 1365
End Sub

uermsdmilsiananmiiuouy. X
Sub ScttimeX(frmneltextS)

t] = Val{Text3.Text) * 5

t2 = Val(Text3.Text) * 10

3 = Val{Text3.Text) * 15

t4 = Val(Text3.Text} * 20
End Sub

Sub positionTime()
t1.Move 295, 1320
t2.Move 540, 1320
3. Move 790, 1320

| t4.Move 1025, 1320

End-Sub

= ol QF

M3 Plotgraph gaimgRnTushan
Sub plotgraph()
Graph.DrawStyle = 6
Temp = (65 - Val(Label2)) * 40 - 300
plottempY?2 = Temp
"Text2 = Label2
"Text2 = Mid(Text2, 1, 5)
'‘DataTemp = DataTemp + Text2 + ™"
If FristStep = 0 Then

plotternpX1 = 100

plottetpX2 = 150

plotternpY'1 = Temp

plottempY?2 = Temp

64

CAMUS ;

R

AN IANHU 1 (U X)
TUARINAIRMUGR 2 (UPU X)
TUARSNMINUEIN 3 (U X)

Lyasenaduuan 4 (unu X)

“Smuathuduin

= =
' aldvugamglidiuang

= Y =t =1
' T sudBynnezin

' fmuagasudulunsdinsulmi X
'Amuagade Tl luunu X

M ﬁ' Qg
“AguuIRTYyATIIN

L3 ‘:: ﬂ:g
TATNANYAYUNN



Graph.Line (plottempX 1, plottempY 1)-(plottempX2, plottempY2), RGB(256, 0, 0)

' A & .
plottempX1 = plottempX2 “fus X2 e 14 luns plot Tuunu X asedsly
' A & 1
plottempY | = plottemp¥2 e Y2 e 14 uns Plot Temp A¥swn 1y
End If

& -] n. r
If step=1 And FristStcp < 0 Then " 410 Plot gansiiezdn3i5u Plot Tns

Graph.Line (plottempX1, plottempY 1)-(plottempX2, plottempY?2), RGB(256, 0, 0)

plottempX1 = plottempX?2 Ve X2 e 19luns Plot Juunu X ndere ]
plottempY 1 = plottempY 2 VAT Y2 Lﬁﬂ‘l‘ﬂun‘li Plot Temp ﬂ‘i&ﬁﬂﬂ
End If
If (step <> 1) Then
Graph.Line (plottempX1, plottempY 1)-(plottempX2, plottemp¥2), RGB(256, 0, 0)
plottempX | = plotrenpX2 ' @ X2 fp 1§ uns Plot Tuinu X asede )
plottempY1 = plottemp¥2 *Bus Y2 el luns Plot Temp adadelyl
End If
plottempX2 = plottempX2 + 50 it uuo x afide s

If step = 20 Then

step=0

Frist = False

Graph.Cls

Call SetGraph

Call Setpoint(framelText1)

plottempX1 = 160 ' ﬁmuﬁqm’%guﬁ'uluniﬁﬁﬁ'ﬂﬁﬁ X
plotternpX2 = 150 'nuagade il Tuau X
Graph.Line (plottempX 1, plottempY 1)-(plottempX2, plottempY2), RGB(256, 0, 0)
plottempX1 = plottempX2

plottempX2 = plottempX?2 + 50

t1.Caption = Val(i1) + ScalGraph ‘nlasusaaluunu X Judumis 1

©2.Caption = Vai(t2) + ScalGraph ' sl fsudnaluunu X luswmis 2

13.Caption = Val(t3) + ScalGraph *nldousnattuou X Tudumie 3

t4.Caption = Val(t4) + ScalGraph *nlasudinanluunu X Tuswviis 4
Endif

step = step + 1

65



. 4
FristStep =} ' ﬁ‘Jumswﬂ‘Iumi plot BloIA1t=0
DoEvents
End Sub

Sub drive_demotor(Et1) Cuidlumsduuenns
Dim i As Integer
If ChkLP = True Then
LP=LP* 10 * fvuasseznm lumsnyuuamed
ChKLP = False
End If
Label 10.Caption = Et1
If Etl <= 0.3 And Et1 >=0 Then
MSComm!.Qutput = "B"
MSComm!.Output = "B"
MSComm].Qutput ="5"
Elself (Etl >=-0.14 And Etl <=0) Then
Fori=1To LP
MSComml.Output = "B"
MSComml.Qutput = "B"
MSComm1.Qutput =" "
DoEvents
Next i
Elself (Etl >=-0.23 And Etl <=-0.15) Then
Fori=1ToLP
MSComm1.Qutput = "B"
MSComm1.Qutput = "B"
MSComml.Output = "3"
DoEvents
Next i
Efself (Et1 >=-0.32 And Et1 <=-0.24) Then
Fori=1ToLP
MSComm].Oufput = "B"

66



MSConunl.Qutput = "B"
MSComm|1.Output ="5"
DoEvents
Next i

ElscIf (Etl >=-0.41 And Et] <=-0.33) Then

Fori=1ToLP
MBComm1.Qutput = "B"
MSComm1.Output ="B"
MSComml.Output ="8§"
DoEvents

Nexti

Elself (Et] >=-0.5 Aad Etl <=-0.42) Then

Fori=1ToLP
MSComm!.Output = *T"
MSCommt.Qutput ="1"
MSComm|.Output = "2"
DoEvents

Next i

Elself (Etl >=-0.59 And Etl <=-0.51) Then

Fori=1TolLP
MSComml1.Qutput ="T"
MSComm|.Output = "2"
MSComnil.Qutput = "0"
DoEvents

Next i

Elself (Et] >=-0.68 And Etl <=-0.6) Then

Fori=1ToLP

MSComm]1.Output = "T"
MSComm1.Qutput ="2"
MSCommI.Qutput = "5"
DoEvents

Next i



Elscif (Lt >=-1000 And Et} <-0.61) Then

Fori=1ToLP
MSComm1.Cutput = "T"
MSCommlL.Output = *2"
MSComm!.Output ="5"
DoEvents
Next 1

End If
DoEvents

End Sub

Private Sub Cmdl_Click()

Call Setpoint{Text1.Text)

Call SettimeX(frameltext3)

Want = Val(Text1.Text)

CheckTemp = Val(Text3.Text)

LP = Val(Text3.Text)

ScalGraph = Val(Text3) * 20
ChkTimer2 = True

OldArea =0

Timer2.Interval = (Check Temp * 1000)
If Val(Text3) = 1 Then MSComm?2.Output = "R"
Kp = Val(KpTXT)

Kd = Val(KdTXT)

Ki = Val(KiTXT)
IfKpTXT=""ThenKp=1
IfKATXT=""ThenKd=0
HKITXT=""ThenKi=0

End Sub

fufmusgungifidesmsainngy

' AMMUAYA Set point

' Set Time

68
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Private Sub CMDSTOP_Click()
Dim Response As Variant
Response = MsgBox("Do you want to save data? ", vbQuestion + vbY esNo, " Please answer me
27
DoEvents
If Response = vbYes Then
Timer1.Enabled = False
Timer2.Enabled = False
Call CreatedFile
Call SaveData
Else
End
End If
End Sub

: f‘hmmﬁiménq
Sub Caculator(Kp, Ki, Kd)
Dim Et2 As Single
Dim X[ As Single
Ratio = Val(Label2) / Want “OUBATITIUTZHIN inputioutput
IfKp < 0 And Ki=0 And Kd =0 Then
Etl =(I - Ratio) * Kp elt) L‘flﬂ Kp
Call drive_dcmeotor(Et1)
End If
If Kp <=0 And Ki <= 0 And Kd =0 Then
'Etl =Kp * (1 - Ratio) + (Ki * ({1 - Ratio) + E2)) / CheckTemp " e(t) tif® Kp+Ki
X1 = (Ratio - 1) * check
X1 =X1+0ldArea
Etl=Kp*(1-Ratio) +Ki* X
Call drive_dcmotor(Et1)
End If
i Kp <> 0 And Ki <> 0 And Kd <> 0 Then * e(t) 1ide Kp+KitKd



X1 = (Ratio - 1) * check
X1 =X1+ OldArea
Et1 =Kp * (1 - Ratio) + Ki * X + (Kp * Kd * ({1 - Ratio) - C£2)) / CheckTemp
Call drive_dcmotor(Et1)
End If
If (Ratio >= 1 And RiseTime = True) Then
RiseTime = False
RsTime.Caption = Tpeak
RsTime.Caption = "Rise Time =" + RsTime + " s"
End If
If (Et1 <= Ef2 And Label2 > Want) And TempPeak = True Then
TempPeak = False
Tp.Caption = Tpeak
Tp.Caption="Time peak ="+ Tp+" s"
End If
If (Etl >-0.05) And (Etl < 0.05) And CheckSetting = True Then
sttime.Caption = " Setting Time = " + Str{Tpeak) +" s"
CheckSetting = False
End If
Ct= Round(Ratio, 2) 'C(D) Lﬁﬂ 1 fiD Factor
Ctime.Caption = Ct
Etime.Caption=1-Ct
OldArea =X1
Et2 = Etl
Text2 = Mid(Label2, 1, 5)
DataTemp = DataTemp + Text2 +"; "7 Un%gﬁﬁmﬁu
End Sub
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Privatc Sub Commandl_Click()
Call Form_Load
MSComml.PortOpen = False
MSComm?2.PortOpen = False
End Sub

1 Q' A Q' 2 (-7
sfhimuamisuduisSuTisunsy Baluilid)

Private Sub Form_Load()

Tpeak = 0 ' Hns3980UM Time peak

timepeak =0 : rﬁfaﬁmmwgﬁﬁzuﬁwm TimePeak =0
RiseTime = True *1¥a52901eh Rise Time Tuilunausn
TempPeak = True *1In579a0v8 Peak Time inﬂuﬂ%um
SettingTine = True "1 Vasasaovhdlunsdng setting time
check = True

ChkL P = True 'ATI9ED D Loop motor

CheckSetting = True

DataTemp =""

plottempX = 100  Sumg s muniEy plot graph Funu X
step=0

FristStep = 0 s Plot e t= 0 ¥imiu
time.Caption = Date urAsIUA

Call SetGraph ' Bonflad Grap MpvInIsaunuse
Call positionTime Cadriaa e X

Timer | Enabled = False Tl Timer1 ( faliGudnTnat)

Timer2.Enabled = False

* ATMUA Mscoem| for Driver Motor

MSComm]1.Settings = "9600,n,8,1" ' MUR OATINNS
MSComm1.CommPort = 1 “{@on 14 Port 1
MSComm].PortOpen = True *ilalderu port

' fMuA Mscomm?2 for Temperature
MSComm?2.Seftings = "115200,n,8,1" 'Myua BATINISAS

MSComm?2.CommPort =2 ' 13D ﬂi‘i’f Port 2



MSComm?2. PoriQpen = True
MSComm2.RThreshold = |
‘MSComm2.InputLen = 0
End Sub

Private Sub Save_Click()
Call SaveData
End Sub

Private Sub Help_Click()
Form1.Enabled = False
Form2.Visible = True
End Sub

Private Sub MSComm2_OnComm()}
Label2.Caption = MSComm?2.Input
If ChkTimer2 = True Then
Call plotgraph
ChkTirmer2 = False
Call Caculator{Kp, Ki, Kd)
End If
End Sub
Private Sub SaveAs_Click()
Call CreatedFile
Call SaveData
End Sub

Private Sub Start_Click()
Timer2.Enabled = Truc
Timerl.Enabled = True
End Sub

' Walda pon
.4
' Goan3 19 Even Driven wistidoymdmn

»
' frmuaIrienudoyaly Buffer ienua

' Timer2 ISUAMIY

' Timerl 15UR19Y
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" Timer
Private Sub Timerl_ Timer()
Static counter As Integer
counter = counter + 1 ' &1L
Tpeak = Tpeak + 1
If counter < 60 Then
If Val(SS) < 9 Then
SS.Caption = "0" & Val(SS) + 1
Else:
SS.Caption = Val{SS) + 1
End If
End If
If counter = 60 Then
counter =0
SS.Caption ="00"
If Val(MM) < 9 Then
MM.Caption = "0" & Vai(MM) + 1
Else:
MM.Caption = Val(MM) + 1
End If
End If
If Val(MM) = 60 Then
MM.Caption ="00"
If Val(HH) < 10 Then
HH.Caption = "0" & Val(HH) + 1
Else:
HH.Caption = Val{HH) + 1
End If
End If
End Sub
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ORG  0000H

ONEWIRE

FLAG

BUSY

DS1820_ERROR

ONEWIRE DATA

TEMP

TEMPH

USER1

USER2

RSV1

RSV2

CNT REMAIN

CNT_PER C

CRC _RECV

CRC

TEMP CAL

TEMP DOT

ONEWIRE_LOOP

ONEWIRE CNT
AJMP

INITIAL: MOV
MOV
MOV
ORL
MOV
MOV
SETB
SETB
ACALL

BIT
EQU
BIT

BIT

EQU
EQU
EQU
EQU
EQU
EQU
EQU
EQU
EQU
EQU
EQU
EQU
EQU
EQU
EQU

P1.7

02FH
FLAG.0
FLAG.1

030H

031H

032H

033H

0341

035H

036H

037H

038H

039H

03AH

03BH

03CH

07BH

07CH

INITIAL

P0,#0

TL1#0FFH

THI #0FFH

PCON,#10000000B

TMOD #0211

SCON,#050H

TR1

TI

DELAY Is

* MHUADARARADTY DS1820

ATIIADY DS1820

 I-wire data

‘Clear Port 0

L] w [
CMYUABATINTTANUDYD

I wrlwed 1 Fuviy



ACALL
MOV
ACALL
WAIT: JNB RIS
CLR
MOV
CINE
MAIN NEXT: ACALL
INB
MOV
ACALL
REPORT: MOV
MOV
MOV
BUFFER_READ:MOV
ACALL
INC
DINZ
MOV
CINE
MOV
MOV
MUL
MOV
MOV
MOV
MOV
ACALL
MOV
MOV
CLR

SUBB
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DS1820 TEMP RD

DPTR #TITLE
PUTS
“asvaouIidoyadiun 7
RI
AH#R
A,SBUF,WAIT “hnsulfeudeyaitldyu

DS1820 TEMP RD

DS1820 ERROR,REPORT
DPTR #MSG DEV_ERR
PUTS

RO,#TEMP

R2,#8

CRC#0

A@RO

CRC8

RO

R2,BUFFER_READ
A,CRC

A,CRC RECV,ERROR_CRC
A,CNT_REMAIN
B,#100

AB

ACCL.A

ACCH,B

OPRL,CNT _PER_C
OPRH#0

UDIVI6
TEMP_CAL,ACCL
AH#TS

C

A,TEMP_CAL



INC
MINUS: CPL
INC
MOV
MOV
CLR
SUBB
PEC
SHOW TEMP: MOV
MOV
CLR
RRC
MOV
DIV
1z
ACALL
SHOW TEMP_1: MOV
MOV
DIV
ACALL
MOV
ACALL
MOV
ACALL
MOV
MOV
DIV
ACALL
MOV
ACALL
MOV

ACALL

76

SHOW_TEMP
A

A

B,A

A#100

C

AB

TEMP
TEMP_DOT,A
A, TEMP

C

A

- B,#100

AB
SHOW_TEMP._1
TX_NUM < A9ARUNINAD 100
AB
B,#10

AB
TX_NUM * gaAngamgiivan 10
AB
TX_NUM < eMgunlivianig
AR
TX_CHAR - gRYANALBY
A,TEMP_DOT
B,#10

AB

TX_NUM e gmungiineiioud 1
AB
TX_NUM < damgmvgiimeiiond 2
A#CR

TX _CHAR



ERROR_CRC:

05

06

07

oL

OH
ACCL
ACCH
OPRL
OPRH
UDIV16:

AJMP WAIT
MOV
ACALL
AIMP
EQU
EQU
EQU
EQU
EQU
EQU
EQU
EQU
EQU
EQU
PUSH
PUSH
MOV
MOV
MOV

UDIV16_LOOP:CLR

MOV
RLC

MOV
MOV

MOV
MOV

MOV
MOV

MOV
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DPTR#MSG_CRC_ERR
PUTS
WAIT
070H
071H
072H
073H
074H
075H
076H
077H
078H
07SH
ACC

0740

06,40

B,#16

AACCL

ACCLA
AACCH

ACCHA
A06

06,A
A07

O7.A



UDIV16 1:

CRCE:

MOV
CLR
SUBB
MOV
MOV
SUBB
MOV
CPL
INC
MOV
MOV
MOV

MoV
MOV

MOV
DINZ
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
POP

POP

PUSH
PUSH
PUSH
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A06
C
A,OPRL
OL,A
A07
A,OPRH
OH,A

C
UDIVI6_L
07,0H
06,0L
A,04

A

04,A
A,05

A

05,A

B, UDIVi6_LOOP
A05
ACCHA
A04
ACCL.A
A07
OPRH,A
A,06
OPRL A
B

ACC

ACC

ACC



MOV
CRCB_LOOP: XRL

MOV
INC
XRL
CRC_BIT_ZERO:RRC
MOV
POP
RR
PUSH
DINZ
POP
POP
POP
RET
DS1820_ TEMP_RD: CLR
DS1820
ACALL
ACALL
MOV
ACALL
MOV
ACALL
SETB
ACALL
ACALL
ACALL
MOV
ACALL
MOV
ACALL

B#8
A,CRC

A

ACRC
CRC_BIT_ZERO
A#18H

A

CRC,A

ACC

A

ACC
B,CRC8_LOOP
ACC

B

ACC

DS1820_ERROR “Wudumysugungiify

DS1820 RST

DS1820 PRES
ONEWIRE DATA #0CCH
DS1820 WR
ONEWIRE_DATA #044H
DS1820 WR

0NEVV[RE

DELAY 1s

DS1820 RST

DS1820 PRES

ONEWIRE DATA#0CCH
DS1820 WR

ONEWIRE _DATA #0BEH
DS1820 WR
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MOV

DS1820 TEMP_LOOP:

DS1820 TEMP CLR:

DS$1820 TEMP_EXIT:
DS1820 RD:

DS1820 RD_LOOP:

DS1820 WR:

DS1820 WR_LOOP:

MOV
ACALL
MOV
INC
DINZ
ACALL
ACALL
RET
MOV
CLR
CLR
NOP
SETB
NOP
NOP
MOV
ACALL

SETB
DINZ

MOV

MOV
MOV
RRC
INC
CLR
NOP
NOP
SETB

ACALL

BO

ROH#TEMP

ONEWIRE_LOOP #9

DS1820 RD

@RO,ONEWIRE_DATA

RO

ONEWIRE_LOOP,DS1820 TEMP_LOOP
DS1820 RST

DS$1820 PRES

ONEWIRE CNT#8
A

ONEWIRE * #un lwdane i Ds1820

ONEWIRE

C,ONEWIRE

ONEWIRE_DELAY

A

ONEWIRE

ONEWIRE CNT,DS1820_RD_LOOP
ONEWIRE DATA,A

ONEWIRE_CNT,#8
A,ONEWIRE DATA
A

DS1820 WR_L

ONEWIRE

ONEWIRE

ONEWIRE _DELAY



DS1820 WR_L:

DS1820 WR_NX:

DS1820 RST:

D51820 PRES:
DS1820 PRES 1:

DS1820_PRES 2:
DS1820 PRES_3:

DS1820_PRES_4:

TX_NUM:
TX_CHAR:

DS1820 WR_NX
ONEWIRE
ONEWIRE DELAY
ONEWIRE

ONEWIRE_CNT,DS1820 WR_LOOP

ONEWIRE

DELAY 750us
ONEWIRE
ONEWIRE_CNT,#22
ONEWIRE_CNT,$

ONEWIRE_CNT#110
ONEWIRE,DS1820 PRES 2
ONEWIRE_CNT,DS1820 PRES_1
DS1820 ERROR

ONEWIRE _CNT#110
ONEWIRE,DS1820_PRES_4
ONEWIRE_CNT,DS1820 PRES 3
DS1820 ERROR

ONEWIRE

ONEWIRE DELAY

AF030H
SBUF,A
TL$

TI
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PUTS: PUSH
PUSH
PUSH

PUTS Ul:  CLR
MOVC
CINE
POP
POP
POP

PUTS U2: MOV

CLR
INC
ATMP
BASE DELAY
VAR xlms
VAR x100ms
ONEWIRE DELAY:

DELAY_ls:

DELAY 100ms_base:

DELAY _750us:
DELAY_ 750us_2:

ACC

DPH

DPL

A
A@A+DPTR
AH#0,PUTS_U2
DPL

DPH

ACC

SBUF,A

TL$

TI

DPTR

PUTS_Ul
EQU 07FH
EQU O07EH
EQU 07DH
MOV BASE DELAY #66
DINZ BASE DELAY.$
RET
MOV VAR x100ms#10
ACALL DELAY 100ms
DINZ VAR x100ms,DELAY 100ms base
RET
MOV BASE DELAY #229
NOP
NOP
NOP
NOP

DINZ BASE DELAY,DELAY 750us 2
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DELAY_ 100ms:

DELAY 10ms:

DELAY_1lms:
DELAY lms_basc:
DELAY lms_l:
DELAY 1lms 2:

NULL

CR

TITLE:
MSG_CRC _ERR:
MSG DEV_ERR:

RET
MOV
AJMP
MOV
AIMP
MOV

MOV
NOP
NOP
NOP
NOP
NOP
NOP
DINZ
DINZ

EQU
EQU
DB
DB
DB
END

VAR _x1ms#100
DELAY 1ms base
VAR xlms#10
DELAY lms_base
VAR xlms#l

BASE DELAY #0E6H

BASE DELAY,DELAY 1ms 2
VAR x1ms,DELAY Ims 1

0
13

"M","D81820 high resolution”,CR,NULL

"M","CRC ecror!",CRNULL
"M","DS1820 device error!" ,CR,NULL
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ORG
CTRL
PORTA
PORTC

SET PORT:

BI:

8000H
EQU
EQU
EQU
MOV
MOV
MOV
MOV
CLR
SETB
MOV

CLR
MOV
CINE

CLR
MOV
CINE
JNB
CLR

MOV

MOV
SUBB
MOV
MUL
MOV

0EOB7H

OEOB4H

OEOBGH

A #0FDH < dauimmuasanisdedoya
THI,A

TL1,A

TMOD,#OO]OOOOOB

ET1

TR1

SCON#01010000B

RIS “asmaouniidoyaduvielu
RI

A#B

A,SBUF,RX2 3 s WnsulSeudoudin 185
RIS | dnildFmsuTunamod

RI

AFED

ASBUFRX

RL%

RI

ASBUF

B.#30H

AB

B,#10

AB

RLA



LIMP
RX2 3: JNB
CLR
MOV
CINE
INB
CLR
MOV
MOV
SUBB
MOV
MUL
MOV

CLR
MOV

MOV
MUL
MOV
CLR
SET_DCM: MOV
MOV
MOVX
MOV
MOV
MOV
START _DCM: MOV
SETB
MOVX
LCALL
MOV

SET_DCM
RL$

RI

AT
A,SBUF,RX
RIS

RI
A,SBUF
B#30H
AB

B#10

B.A
RL$

A,SBUF

AB

B#10

AB

R1,A

RI

DPTR #CTRL
A,#10010011B
@DPTR,A
DPTR, #PORTC
P2,DPH
RO,DPL
A,#00100000B
ACC.7
@RO,A
DEL_ON

A #00100000B
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DEL_ON:

DEL_ONI:

DEL_OFF;
DEL_OFF1:

MSEC DLY:
MDI1:

MOVX
LCALL
SIMP
MOV
MOV
ACALL
DINZ
RET
MOV
ACALL
DINZ
RET
MOV
INC
MOV
ORL
INZ

END

@RO,A
DEL_OFF
RX

ARI

B,A
MSEC_DLY

B,DEL_ONi

B,#50
MSEC DLY

B,DEL OFF1

DPTR,#65536-152
DPTR

A,DPH

ADPL

MD1

¢ FUUDINITOBU

< gaursamsoai

“ MU
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